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Solve and Graph the Inequalities

19 8 <-2k-T+5k 61 Bp-11+2p > 117
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2] -G6r-36 > G(4-2n 7] -60-82 < B(5-3d)-2d

- 1 L 1 1 1 L L L 1 1 1 L 1 L= - 1 1 1 1 L 1 1 1 1 L 1 1 1 L=

| 1 I I I 1 1 1 I I I 1 I Lanil T | I I I 1 I I I I 1 I I I Lol
2 4 5 6 F 2 9 10 11 112 12 14 15 Z 4 5 &6 F o8 @9 10 11 12 1Z 14 15

3) -27+57 < 57 B) -6y-138 < B[ 2-5v)
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4y 40 < -4g-4+2qg 9] -2Zn+6n < 44

- 1 L 1 1 1 L L L 1 1 1 L 1 L= - 1 1 1 1 L 1 1 1 1 L 1 1 1 L=

| 1 I I I 1 1 1 I I I 1 I Lanil T | I I I 1 I I I I 1 I I I Lol
26-25-29-23-22-21 -20 -19 1817 16 -15-14 -14-1z-12-11-10 -9 - -F 5 -5 -4 -2 -Z

51 5a-2850 > 5(6-4a)-3a 107 3(6-5c)1-2¢c > 4c- 129
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